 64.

66.

67.

" 68.

69.

@aE 7] . Eoero)
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HE a b £ d

A4 3 2 1

B. 4 3 1 2

C.i40 4 1 2

Ba -3 4 2 1
mm«mmﬁamwm|
1. T el £5,%0,000 T HIEH Wl B |

2. 2 fovaet <ol gell TeRvT 1|

3. TEA9R 9 <9 e |

4. ﬁtﬁ?"ms{m%f@xa°aﬁmﬁmux°qﬁa¢ﬁéfaaowﬁﬂ%mmw%&r@w
A LIV, 1T I e B, LII, UIEE, IV e
C. LIILIV 9998 D. LI IV §&, Il e

’qsammﬁxowaﬁ‘wﬁﬂﬁmmqoﬁaﬁaxmmmmﬁaﬁm

SHEMHARTTE TS ? | ‘
A fort had provision of food for 150 men for 45 days. After 10 days, 25 men left the fort. The
number of days for which the remaining food will last, is:

q .

LA 29 B~ 37 C. 4 D. 54

FeaTES Taeg WU ST 395 foe Siie Tl - _
Select a suitable figure from the Answer Figures that would replace the question mark (?).
Problem Figures: - Answer Figures: :

A ® © O M@ ey @)
A 1 BT P, ¢ '3 D. 4
TeTeh! Tl H el Hrforrgers SRl T ARl e Y@t Sew S 5712 37 559 ? I the adjoining

figure, if the centres of all the circles are Jomed by horizontal and vertical lines, then find the

- number of squares  that can be formed.

i

A _nshmwm%w' : B. WA —» dfi aiferaa
C. - FgAF — e we : D. BfEr — Feraw ym = e



76.

71.

72.

73.

74.

75.

76.
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TE T 1 for e oo W SRR ' 4

a. FoH =rEfEH ' 1. wifewEr ,
b. 9¥H fat=F gH 2. G&E TRIg 9%
c. FH I 3. TOER guH
d., WoH TR 4. feemwwRRSEw .
®Ea b ¢ d
o B AL B B 2 )
B:- .1 2 4.3
Ci .1 TR G 4
D, 3 rTASEE 2
Sirer e Freae T8 ST S He | .
I - i (B0
©a.  qyufas Iaere! i 1. TUTRE
" b. oy Af< fEm 2. fa=
c.  THIGHTS! TETH! T 3. §go
d. gt STl T 4. FEUEE
" ®E a2 b ¢ d
A B4 1 2
;T o 1
C. 4.3 2" 1
D 3.2 1 4

SR TAESA U, 00Y T Sqaen wmmmmmwmﬁm
PO R e R e 2

A. g=afed B. UMM WIIEA Tt : :

C. THRI FRITEA FeAeaeh! aree . D. Srehde s g '

I think they allow their children too much ...... :

A. liberality B. latitude - C. lassitude D. levity .
Once you suspect a person of double dealing, you ought to keep him at arm's ......

A. distance B.: length .~ % C. . aim : D. width

Affix a revenue stamp and put your signature ...... it. :

A. on B wpts C. -above - “ D. over

e T 7 S AT T ? _ '

A T TE1 AETH A : B. Warew JETedeh! SISaH AT -

C. wEFaaE HE ¢ mﬁgﬁaﬁsﬁw



717.
78.

79.

80.

8L

82.

83.
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mwwmgﬁﬁm wmﬁm 9% aﬁ'—’ﬂlﬁémﬁ@m o

= 2

A, TR B. TR CC wR D. TIRRY
mwmmmﬁ@@mmmmmﬁm%
yfeee 2 :

- A, SRfEn B. & C. 3=l D.W%ﬁ

AT AR SiaEH R09Y, ﬂmﬁmmaﬁmmﬂm ?
A GOyEEITEE B, WA AR Cc. wadmaefgg D, sfuER gue
fezus! Fesm Fngern! TE@Al T STege | Lo

Find the number of triangles in the given figure.

A 18 B. 20 C. 24 _@F 7
Ao A fem e R e 9 2 '

Choose the figure whlch is dxfferent from the rest.

" Choose the box that is similar to the box formed from the given sheet of paper X).-

[~

SEICIE]

DJ"'.

16.9)
A. 1only B. Zonly C. 1and3 only D. 12, 3and4only
ot (X) T URETT SveTesen! ST 3 B o G 7 ?

Select the figure which satisfies the same conditions of placement of the dots as in Figure-X.

B & 99

® @ (2) (3) ON :
A1 B. 2 S c 3  : D. 4
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84. mmaﬁcmwnmnﬁaﬁmﬁmmwwwrﬁm

e 1 () TR 11 (SFEE wiwm)
1. Wi a. 9.¥ gfavm
2. T=H b. 39 yfeem
3. feda c. ¥ yfaea
4. foreelm d. & yfaee
Lo S G S SRR
A e T c d
-B. d [+ b a
C. d e a b v
D. .d b:. c a
85 TR FANRTEES: v e
A. m@wq@mﬁm ' — I wEgUS ufieT frgss
B: mmmmﬁw ' — WA fgss
- C. HawRT R e g 9M afiga frges - o fammR e fess

- D, fove WA el e @t frges  —> weg e afiga s
86. .mn,mnﬁamﬁmam:

Heefia AU I A
a. STEl A 1. Hyanea hyaena
b. TS _ - 2. Anticope cervicapra
Jc. HYER . 3. ovis ammon '
d. &R ; 4.  Bus mutus
e gl ¢ d
A. 3 4 2 1
B. 4 3 1 2
C. 4 3 2 - 1
D. 3 4 1 2 :
87. ﬁmmmzmmm@mms ?
A fom T - omE T B. YW g o fmufyer
C. TR - forfeaam e : D. SRMAR — 3TFSifa At
88. My first lesson ...... forgiveness came from my mother. _
A. upon B. about €7in ’ D. on

"89. At one point, it looked as if an area of agreement would ...... specially over the issue of
productivity linked wages.

A. develop’ B. comeout C. emerge ‘D.  grow



90.-

91.

92..
93.

94.

9s.

96.
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Pick out the best one which can complete incomplete stem correctly and meaningfully.
Despite his best efforts to conceal his anger ......

A.- we could detect that he was very happy = -

B. he failed to give us an impression of his agony

C. he succeeded in camouflaging his emotions

D. people came to know that he was annéycd

TG F e TR AR el o L1 51 F1 IS THA R B |
A. R09Y T K, ST A . B. R09Y T %, TEHF &
C. 0¥ T Y, IWAY : : D. 0¥ HIE ¥, TEHSH T

mm@mmwmmav ' _
A. WHE9Y,3095 B, WY, 3096 C. WH9E, 095 D, HE9S, 095
SR TEh SR FHRIHTET T 7 TGt I it Faifed o g ?

A. 334, 00y B. ¥4, j00¥% C. =, Ro9¥ D. & =@, 0¥

‘ mmmmmﬂﬁmmﬁwmu

Group the given figures into three classes using each figure only once.

UM N
ZIX[M

JION

A 1,23;456;789 . : B: -1,3,5;2:4:6457.89

. C. 1,59;36,2:4728 D. 197:2.85:;34,6

o=t X o e ghreeae faseam ﬂ@ﬁﬁﬂmm P AT TET ?

Find out which of the figures (1), 2), (3 and (4) can be formed from the pleces given in

figure (X). - ' . _

D Q : : ; Y .. 5 & -
&0 ORQe® el
% ) (1 @ 6 @ :
A 1 | ‘ C. '3 : D. 4
eI B e AT g T

. Select a suitable figure from the four alternatlves that would complete the figure matrix.

’




97.

98.

99.

100.
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ﬁax@mmwm@a ?

Choose the correct mirror image of the given figure (X) from amongst the four alternatlves

.

Eo|

e el

X ey} 2 - 3 “4) X

A1 B. 2 e T D. 4
e 31 e :

e 'qﬂi‘Qﬁﬁ'{!:Rme, R08Y Hifea fed e Gl

@, IH AAATAER BIZA T v e ....mﬁmawashﬁamfml

A. Toteam aifd, af<y enfasm B. ¥%Ea eI, URE TS
C. . faueTR =ifad, TiE T D. Rear Eive, wf=y afism
T T i g A Seee feSe R S § 7

A. oo ol B. ORI @A C. SY Haras D. fosmaw
Terent Soft I e | '
ABD, DGK, HMS, MTB, SBL? :

a) XKW b) ZAB ¢ ZKU . . d) ZKW

-~ .

Q.No. Answer Expalnation
- Key
1. »D’. Go on adding 7, 9, 11, 13, 15, 17 19 respectively to obtain the next number.
' So, 135 is wrong.
2 €. 2(15+12)x h=2(15%12)
. _180 20
, = =27 De2g™
: 4 20\ 5 . :
o Volume={15x 12 X3 )m =.1200 m’.
3 B. Let 1 -man's 1 day's work =xand 1 woman's 1 day's work = y.
1 1
- | Then, 4x +6y=§and 3x +7y=ﬁ
Sl . el AR
olving the two equations, we get: x = 400 Y =400
’ ' : L
. 1 woman's 1 day's work = 200
10 's 1 day’ k—(—l——' 10)—i
= 10 women'’s 1 day's work = { 7555 % =30
Hence, 10 women will complete the work in 40 days.
4 | C oD oy e
Total time taken = ( 64 T 80 hrs. = > 5 hrs.
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59=3125 & 5°=5°
==a=>, ; ; .
- 503 56-3) _52_95 i

>

16.

>

7.A Jsc ]op 10D |11.A 12D [13.A [14B_ |158
17.D |18A : :

19

e Y T B

Let 0.0169 x x=1.3.

| Then, 0.0169x = (1.3 =1.69

1.69 100

20

Let the rate be R% p.a.

i (SOOOXRxZ) (3000xRx'
o 100 100

= 100R + 120R = 2200 .

2200
:R=(220)= 10

Rate: 10%.

4) = 2200.

21

Let the original salaries of Gyanhari and Govinda be Rs. 2x and Rs. 3x respectively.
2x +4000 40 '

»3x +4000 = 57

= 57(2x +4000) = 40(3x + 4000)

= 6x = 68,000

= 3x =34,000

Govinda's present salary = (3x + 4000) = Rs (34000 + 4000) Rs. 38,000.

Then.

22

C.P. of 6 toffees = Re. 1 _
S.P. of 6 toffees =120% of Re. 1 = Rs.g

6
' For Rs. 5 toffees sold = 6.

For Re. 1, toffees sold = (6 X ‘Z‘) )

23

Total number of balls = (8 + 7 + 6) = 21.

Let E* = event that the ball drawn is neither red nor green
= event that the ball drawn is blue.

son(E)=17.

! n(E) sl
~PE)=1S) = 21 3~

24

25.A [26.c’|27.c [28B J29A|3oc [31c [32D [33C[34A

35

There are 6 letters in the given word, out of which there are 3 vowels and 3 consonants.
Let us mark these positions as under:

(1) (2) (3) @) (5) (6)




Now, 3 vowels can be placed at any of the three places out 4, marked 1, 3, 5.
Number of ways of arranging the vowels = Py=31=6. :

Also the 3 consonants can be arranged at the remaining 3 positions.

Number of ways of these arrangements = Py=3l=6. : 2
Total number of ways = (6 x 6) = 36. :

v

36 In each number except 751, the difference of thlrd and first digit is the middle oné.
37 € Let C.P. of 1 litre milk be Re. 1
Then, S.P. of 1 litre of mixture = Re. 1, Gain = 25%.
i 100 \_4
C.P. of 1 litre mixture =Re. (125 X 1) =
By the rule of alligation, we have: )
C.P. of 1 litre of milkC.P. of 1 litre of water
Re. 1 . Mean Price 0
3 4 1
5 Res 5
. 3 - 4 1
.. Ratio of milk to water oo 3 4:1.
Hence, percentage of water in the mixture = G X 100) % =20%.
38 B. At 5 o'clock, the hands are 25 min. spaces apart.
To be at right angles and that too between'5. 30 and 6, the minute hand has to gain (25 +
& 15) = 40 min. spaces. :
55 min. spaces are gained in 60 min.
. - e O 60 5 T,
40 min. spaces are gained in 55 % 40 ) min =43 17 min.
7
.. Required time =43 — 11 mm past 5.
39| c J4p " [0B  [2B [43A [44A |45B l[46c - Ja7A -
48. |- ¢ [1oB A ' 3 T
50 D. Required number = (17% of 27300) + (14% of 24700)
' =4641 + 3458
=8099.
51 D: : v
Reauired rufio'e (21% of 24700) (21 X 24700) 19
: cquired ratio = "(14% of 27300) = 14 x 27300 = 14
52 ’ : >
33 D. . . . (21% of 24700) (21 x 24700) 2219,
- . Required ratio = 134" £7300) = 13 x 27300 =13
54 C:

Required number- = (15% of 24700) + (12% of 247QO)
=3705+2964-
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= 6669.
5s | A |s6D 570 . [58.a]s50A [60B |61B |62D [63.A |64.A
65. A : - ’ ‘
66 C: After 10 days : 150 men had food for 35 days.
Suppose 125 men had food for x days.
Now, Less men, More days (Indirect Proportion)
& 12551503235 :x & 125xx=150%35
15035
e Sl AT
i =>x=42
67 B. The middle and the inner elements get enlarged to become ‘the outer and the middle
elements respectively. The outer element gets reduced in size and becomes the inner
element.
68 C. | The figure may be labelled as showr.
We shall join the centres of all the cxrcles by horizontal and vertical lines and then label
the resulting figure as shown.
The simplest squares are ABED, BCFE, DEHG, EFIH GHKJ and HILK ie. 6 in
number.
The squares composed of four simple squares are ACIG and DFLJ i.e. 2 in number.
Thus, 6 + 2 = 8 squares will be formed.
6 | D" |70.cC |7.A [724 [73B[74B |75.4[76D [77.A |78.8
79. G '
80 C.

The figure may be labelled as shown.
; B

The simplest triangles are IJO, BCJ, CDK, KQL, MLQ, GFM, GHN and NIO i.e. 8 in

niimhber
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The triangles composed of two components each are ABO AHO, NIJ, IGP, ICP, DEQ,
FEQ, KLM, LCP and LGP i.e.10 in number.
The triangles composed of four components each are HAB, DEF, LGI, GIC ICL and
GLC i.e. 6 in number.
Total number of triangles in the figure = 8+10+6=24.

81 C.  |In each one of the figures except fig. (3), the numbers of different types of elements are
in a sequence such as there are three '=' signs, four circles, five 'C'-shaped elements and
six V signs in fig. (1).

82 B.

8 | - C. . :

84 | B [85D | [ss.c [87.c [88D [89.a [9o.n[o1.B [92.a

93.°| B _

94 A. 1,2,3 are ﬁgures composed of two straight lines.

: 4,5, 6 are figures composed of three straight lines.

7, 8,9 are figures composed of four straight lines.

95. : '

96 B. n each row, the second figure is obtained by shading'cne of the four parts of the first
figure and ‘the third figure is obtamed by shading two out of the four parts of the first
figure. .

97 D.

98 C 99. A © 1100.D

Types of railway gauge

Broad gauge : width 1.676 meter
Meter gauge : width 1 meter
Narrow gauge : width 0.762 meter
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A< 99 DY IPARID! ¢TSI Answer Key

1 |®®O0 |2 ®®OD®]| 5 | ®®OD | 7. @A®O®
2 |®@®0O00 |27. | ®@®OD®| 52. | ®®OD®|77. | ®@®OD®
3. |[®@®O0D |28 |(A®ODO| 5. |®O®OD| 3. |®®O®
4 |00 |2 [(A®OD®| 54 |®@®OD| M | O®OD
5 |®@®O0 |30 [(O®OD| 55 |O®OD| % | A@®OD®
6 OO |3 [A®OD®| 56 | A@®OD |8 | O@B®OD
7. |@®O00 |32 [@®0D| 5 |O®OD |8 [@®OO
8. OO |33 |@®OD® |58 |@®OD |83 |®®OO
9. |[@E®OD |34 |AR®OD|» |@®OD|# | O®O®
0. (@O |3 [A®OD| 6. |®@®OD® |8 [A®OD®
1. |[@®O00 |36 [(A®OD| 6 |[@®OD| 3% [ ®®OD
2. | OO |3 |®@®O®| 62 [O®OD |8 [(®®OD
13 |®@®O0O |38 |[A®OD| 6. | ®®OD |8 | A®OD®
14 (OO |39 |(O®OD| 6 [OB®OD| 8. | ®B®OD®
15 |(AE®OD |40 |®®O®| 6. | ®®OD| % | ®®O®
16. |@®OD | 4. |O®OD®| 6. | AB®OD| 9% | A®O®
17. |[®@®O0 | 2. |®®OCD® | 67. | ®®ODO| % [A®O®
B (@O0 |3 |@e00| % |@®0D| % [@®O0®
19. @O0 | 4. |O®CO| 6. [A®O®| % [A®OD®
20. | ®®O0 | 45 (OO | 70. ®®OD®| % | ®@®OD®
21. |[A®OO |46 (A®OD®| 7. | ®@®OD| % |®®OD
2 |[®@®O0 |47. |®B®OD| 72. | ®®OD®| 9. |®E®OD®
23. |®®O0 |48 |[AB®OD®| 713 | ®®OD® |98 | ®®OD®
4. ®EO0 (49 (A®OD®| 74 | ®@®OD|%» | ®®O®
%5 |[®®O® | 5. 75. 100.| ®® © ©®

®®O00®

@00
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olofoll URoNTR AT : 92 (Set 12)
o g1 fem o fem v o 8 2 ; -

Choose the figure which is different from the rest.

ZISZIZN]

O @ @ @ 6
A1 ‘ B2 e L DY
Teren! T gt X ient e v TR | 28

Count the number of triangles and squares in the given figure.

“A. 28 triangles, 3 squares ) B. 24 triangles, 5 squares
C. 28 triangles, 5 squares . D. 24 triangles, 3 squares
ETEF o ! SIHT SRR foae! S e

Select a suitable figure from the Answer Figures that would replace the questlon mark (2)-

Problem Figures: : Answer Figures:

PEAR [dv3afsTOP| 7 90 1s|dQLen|9QTen| dQLes| QT
(A) ® - © @ . (1), 02) -+ 3): . (@21 (5)

A 1 B. €. 3 D. 4

: mmmmw@wmmmmmwma
A. e YR TH WY SEEty ,

B. a1 T2 T TR T T i) faron

C. Yanrde Y T W wEfaty

D. o9 FHINH TEl UM AT FHEReR g favris s

anuﬁamtm@mﬂzm

e » - st
a HE-faUER 1. wifm m
b. SEAI-faRETR 2. F@wE Al
. c. . OEEEg-TEsY B R L e
d.  TH-TSERS 4.  TEEEHO ART



10.

11.

12.

13.
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FE  a b .¢ d
A. 1 2 3 -4
B. 1 2 4 3 .
G: 2 3 4 isead
D.’ 2 3 1 4 -
mmmmmm W}Tﬁa'@r/gq? .
A, FEfYS FaEcIEd : B. i of ged
- C. ufgfavass e D. wifusras
DNA T e Te A ARaeH 99 g 2 ;
A. - Ademine . B. Guanine - C. Cystosine D. uracil

Study the following passage and answer the questions that follows:

Question No. (8-12) based on the following passage:

Nehru was a many sided personahty He enjoyed reading and wntmg books as much as he enjoyed
fighting political and social evils or residing tyranny. In him, the scientist and the humanist were
held in perfect balance. While he kept looking at special problems from a scientific standpoint. He
never forgot that we should nourish the total man. As a scientist, he refused to believe in a
benevolent power intefested in men's affairs. but; as a self proclaimed non-believer, -he loved
aftxrmmt7 his faith in life and the beauty of nature. Children he adored. Unlike Wordsworth he did
not see him trailing clouds of glory from the recent sojourn in heaven. He saw them as a blossoms
of promise and renewal, the only hope for mankind.

Nehru though that children o a Rt :

A. were tailing clouds of glory “B. held promise for a better future

C. were like flowers to be loved and admired D. held no hope for mankind

Nehru enjoyed - . ' .

A. reading and writing book§ . - B. fighting political and social evils

C. resisting tyranny D. doing all the above and much more

Which of the statements reﬂects Nehru point of view?

A. Humanism is more important than science

B.. Science is supreme and humanism is subordinate to it

C. Science and Humanism are equally important

D. Thereisno ground between science and humanism

In this passage, 'a benevolent power interested in men's affairs' means

A.  asupernatural power of god B. beauty of nature
C. the spirit of science D. - the total man
A 'many-side personality’ means y
A, acomplex personality : B. asecretive person
- C. aperson having varied interests D. acapable person
| AT A T et i et 8 2 o
A, SRR HFREA B. TAIfd BEIMER

C. druis fot sam 'D. aTfefe qun gemafae fasm =



14.

18.

16.

-17.

18.

19.

20.

192

TETeh! TS ST TR :
1 mtmmﬁaﬁﬂxiaﬁa?ommmmﬂ@fwn '
2, TFEUNO giay 9Rugsh! Tl 65s U |

3. Royy HIH1 AU T R A SEeah! mmﬂaﬁqﬁsﬁmﬁmmmﬂ@

foran
4. STEITERIGE AU SHI-Hh! ST TR g |
i SewiEd T T W B/ B 2

‘A 1,2,334WY B, 2,3749H C. 1,3749H D. 2,1,49%
e 1 X EE 1 fo sirer ey 2

Rl TR Il

a. fodeh : 1. =R

b. AT TR WS 2 EC

c. U= 3 Ffgan

d. g T T 4. o

HIS a b c - d

A. 12 3 4
_ B. 2 1 4 3

e ) S 4 3.

D. 1 1 4 3
mmwm@wmmmﬁmmmmm
A. - STATERYT HIETOT B. 3THETE! SHTHERET TET0T

C. Sofaga ssi : ¢ D. SR FEShl
mmmmmmmmmmmwa ?
A. gﬁﬁmgﬁmmmaﬁﬁm B. =M, 9k, 3, Zaftaa gfaaa
C. 9@, e, A ghteE, e D. 3, FAfaa ghraA, snfem, o

TR T A< Al SHEH! IGIE ¥ B | A iels frfees! S TR 1R O W
<! Afech! ST Hia Bel ? Present ages of Sameer and Anand are in the ratio of 5 : 4

respectively. Three years hence, the ratio of their ages will become 11 : 9 respectively. What
is Anand's present age in years?

A. 24 B. 27 = C =40 D. Can not be determined i
'PtQﬁsﬁquMaoxoalQ'{R‘uﬁ‘tmmmmmﬁxomptkﬁm .
FMETHT 4300 B ¥ P ! Wi SRS Hie Bt ?

‘The average monthly-income of P and Q is Rs. 5050. The average monthly income of Q and

R is-Rs. 6250 and the average monthly income of P and K is Rs. 5200. The monthly income of
Pis:
A. 3500 - B. 4000 C. - 4050 - D.- 5000

'qY IR 090 T S WR Ford Bew 2

What will be the day of the week 15™ August, 20107 .
A. Sunday B. Monday _ C.  Tuesday * D. Friday



21.

2.

23.

25.
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wmmmammm ?moﬁtaauﬁﬁﬁzmﬂ#{ﬂ%wﬁsmﬁo T A ¥
fiﬁzmwﬁfa‘raammﬂév

Running at the same constant rate, 6 identical machines can produce a total of 270 bottles
per minute. At this rate, how many bottles could 10 such machines produce in 4 minutes?

. A, 648 B. 1800 C. 2700 D. 10800

W v e e wEER foeR e -

4 mwﬁﬂéwm#mmmqﬁmmm&ﬁau

I IHeE gerge a darge af wfws )

II1. m@mmaammm%gmaacMgmwﬁﬁm
IV. a@—ésign%srmaimmmgu :

A. L I1, I §& IV 7TeTa B. IL I, IV §& I 7/eq
I, TV E& 1, 11 e 'D.  LILIOIL IV 83 &
TRl TEO
B ‘Q'F(ETS’UTéT a.  TIRGEl
g ﬁmsaw?:aw(naﬁ) b. B %
3. aw femme c. Tamem
4. g=i femet d. foeyeh
#E a b c d
AL d= Cinl b a
B. i b c d
G: b ¢ d 'a R
D} a b d
mﬁmmzmmwmz
a. WAl — %0 I b. TRIZ— 900 TH.
c. TR - 2003 f. © 4 ORUA e A
“A. a,bIcTeEl, d e - " B. b,c,dTdl, aTed
C. acdﬂéb’lﬁﬁ D. a,bcd?ﬁﬂﬁ
mmmmmmw@mmw
IS HAGAT BT — 9300 e s

TR FEIIES g 909 2 3900 iR T TES |
IS0 HAGAT SIETAHETAT 900 Y. 99§ |

A a,bT@,c,dTEd B. a,b cTE,dTEE C. acHR, b dTed D. b,dE e, a c e

a.
b. e BRETAHT — 909 2 3300 i, TR UED)
C
d



- -26.

" 27.

28.

29.

30.

31:

32.
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- P e 2, 0%, 1 G Sl T Weher i o i fremege -

CEgEl TRl
a. JUH WA 1. faH. 3003 R R
b. TrE HIEA 2. fad. 08 J@R
¢. T EEEE 3. fad. 0%y TEA 1
d. =i HeEE 4. Tad. 044 FER R
#IT a b ¢ d
A. 4 3 2 1
‘B. 4 3 1 2
g o 2 3 4 1
D. 3 4 2 1

" From the given alternatives, choose the one which best expresses the given sentence in Direct

speech.

His father ordered him to go to his room and study

A. His father said, "Go to your room and study.".

B. His father said to him, "Go and study in your room."

C. His father shouted, "Go right now to your study room"

D. His father said ﬁm"ﬂy, "Go and study in your room."

Choose the alternative which best expresses the meaning of idiom

He passed himself off as a noble man.

A. Wasregarded as - B. Pretended to be:

C. Was thought to be : "+ D. Waslooked upon
Pick out the best one which can complete incomplete stem correctly and meaningfully.
" You are thinking very highly about Ravi but he is not so" means .....
A. Raviis as good as you think about him

B. Youhavea good opinion about Rayi but he is not as good as you think
C.” Your view about Ravi is phi]osophical keep it up

D.  Ravi is much better, than what you thmk of him

In question below a sentence broken into five parts. Join these parts to make a meaningful
sentence. The correct order of parts is the answer.

1. . left 2. the = 3. house ,- 4:50he. 5. stlxddenly.
A 12435 B. 21354 C. 451237 w5 Dri52341 °

fafir TerRv i e forer TR - .

1. ufgm - faaes : ) I 3frsr — fafam=m

O SWafE > eEmens. IV, e - TS sers

A. LIS, IO, IV TTera B. LIV, L IR

C. LINEILIVTE™ D. I, II, I §&, IV 7T

mﬁmwﬁwm@'&/av

A. S SIS A ' B. THSEET 9EHh! T

C. 3UTARH 5 : D. e Ea
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A fam wve (Boston Tea Party) EX 0] w:ﬁua 9?

A.  FERE! G WO . B. IFREH
C. U AR HigAl ' D. TiresH i<
“HE 1 XEE 1 T wire e : :
TR (ara) : g 11 (Sf)
a. Telr SRS B )
b. W 2. e
-c. HRAT 3. TS
d. @g 4. TR
FE a b ¢  d
A 200 A 4 1 .
B .2 3 SR
e 1 g5t 4
5 o ) 4 s A 3.

¥:30 3 & o e woa ¥ ¥ e gdent o =i oo s s 2
At what time between 5.30 and 6 will the hands of a clock be at right angles?

5
A. 43 1 min. past 5 B.. 43 171 min. past 5

C. 40 min. past5 ' D. 45 min. past5

F TS S ¥ wﬁmu@l R mmmtmmmwmaﬁmm
i g ?

The difference between simple and compound interests compounded annually on a certain
sum of money for 2 years at 4% per annum is Re. 1.”The sum (in Rs.) is: '

A. 625 B. 630 - C. 640 D. 650

| e S S S S TR

Insert the missing number in the following series ?

1,4,9, 16, 25, 36, 49, (....) i

A. 54 B. 56 'C. 64 81
ﬁmw@rﬁuﬁrﬁ@mxﬁmuﬁrﬁﬁmﬂimﬁmuﬁﬁm“a ¥ 9 TR sy
TR g AP PRI TS 2

In what ratio must a grocer mix two varieties of pulses costing Rs. 15 and Rs. 20 per kg
respectively so as to get a mixture worth Rs. 16.50 kg? :

Sl 3:7: . B.5:7. €5 753 , D.7:5

R HAFH [ T3 WS T ATHT Hhgeh! M IR T o AT e} S Ak g
TSI I §:3 B WA 5§ SiHa! e T HEHS! =1 B § ? ~

The difference between a two-digit number and the number obtained by interchanging the

digits is 36. What is the difference between the sum and the difference of the digits of the
number if the ratio between the digits of the numberis1:2?

AS: 4.0 - B. 8 C. 21165 N Pt ot None of these



40.

41.
42.

43.

45.
46.
47.
48.

49.

50. .

e 1w 11 T e fremsge «

a. g% 5 1.9is

b.3urE 2.

c. GIaR 3. 50

d. 7 4. 33

HE a b c d

A. 3 1 2 4

B. 3 1 4 2

C 1% 3 2 4

D. 1 3 4 )
mmmmmmmv

A. TR B. WM C. D. @
A TR FA /AT T 2 . .
A. fafen B. Wmed - - C. 3= . D. HRER

RS TR 7B TR e T TR TR
a. TRUfereRmeare faifed sregey T Sureas

b. Wi g Fraifad aeree g

c. TS WER rgHeene faifaa ¥ afeen ge=

d. aﬁazmmmmﬁaﬁa?ﬂm?w

A. ab,cHE, dTeE . : B. a,c,d @, bTEa
C. a/b,cTdTI T D. a’b,d ¥, cem

ISR W R SR, 0¥5 amwmm?@ REERSHESTES )
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A. ST FEAGIEED! AHRFH AR B. ﬁxm(ezﬁwwwﬁmnﬁ

A W B. HRE C. gEd D. T

C. VTR & ) 295 A1 D. T =3

AuTeTen! et gerEteE @i g 2 ,

A. TR gy B. Jfrswarfde: C. aaae@sm D. 99 ST a1
. The grapes are now ...... enough to be picked. :

A. ready B. mature C. ripe D. advanced

Success in this examination depends ...... hard work alone.

Agat . ‘B. over C. for D. on
‘- That the poor in our country, are happy is '

A " a dréam _ B. avision C. anideal D. anillusion
. 1 G 'Paper Gold" sR fafFs ? : ok

A. I TR B. wfde yRte C. TwEd. Ix D. R

AR AT WG T STeH g foteen B B2 PR
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- 53.

54.

55.

- 56.
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R0%5 ﬂ@wmﬁmmﬁm@mmﬁmmm :
TR A% SEE TP o1 FFHE HHB! A GARETE § (a6 98 S ?

A, FEEE, O, afadg, e, e B, HieHe), afdagy, 9w, fate R, sRay

C. wEaR, Ied, AR, WA, e D, FieHrE, AR afea gy, 9, fate R

TEaTE® a7 U] S 1 3% §9 2
(112x5% =2 _ . N
A. 67000 . - B. 70000 . C. 76500 D. 77200

T Srofe A % mmﬁaﬂm Odd man out in the given series ?

16, 25, 36, 72, 144, 196, 225 ‘ ¥

A 36 B. 72 C. 19 D. 225

F SHIRA TTFIHAEER S X:8:5 P T Siewl o1 IRk e Have ¥ Afe, & Afgn
T\ TR AR ST TR § A RAIees! TR ST id giet 2

Three partners shared the profit in a business in the ratio 5 : 7 : 8. They had partnered for
14 months, 8 months and 7 months respectively. What was the ratio of their investments?

A. 5:7:8 B. 20:49:64 C. 38:28:21 - D. Noneofthese

930 et T Yot vy, e Rftrever SRt 30 YHUEHT UR TS Y It JAP! TR i gl 2

The length of the bridge, which a train 130 metr&s long and travelling at 45 km/hr can cross
in 30 seconds, is:
A. 200m B. 225m ’ C. 245m - D. 250m

ARFIFEIG ﬁwn#mmammﬁxmnﬁwn B@90 ﬁﬂrﬁhzmmm
I BT A TERIA ST HH B 1o G4 T Feelt ?

A can finish a work in 18 days and B can do the same work in 15 days. B worked for 10 days
and left the job. In how many days, A alone can finish the remaining work?

A. 5 B. 5l : C. 6 ' D. 8
mmmzmmmmm

T & LiEkay)

a. =IOl 1. fam. 0%

b, HEEAS 2. fam. o4y

c. THAEG : 3. fam. 0ux

d. HITER 4. a9 3050

FHE 2 b c d

A1 2 4 3

B 3 3 4

C 2 3 4 1

D. 1 4 3 2

TARTIE F T WA SHER B/ §1?

A. I B. f= Cc. et D. wifushaa
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TR T W B ? ;
A. Father of Biology — Aristotle - B. Father of Ecology — Theophrastus
C. Father of Mutation — Louis Pasteur D. Father of paleontolooy—aLeo Mardo da vinchi

WWIWWWWQWWW ?

A, VIS W — arEgshen fag 9o uiglag
B. <O e — I GHI O @eA
C. "ERIGY "It — THBH (e T e et fmio

D. I TR — A9 YU TAReh! 9T

Rueeet TARTHT TR STSH! Rreal B! ¥5@ FR01 S freh 2

A, FUSH A < T SHATASTT YUHA TTffaew T961 | SIS g 799 |
B. EHI AEwIHl JITHR Cross-polination T GRF=5 |

C. TEH! Saa=sh S W™ fed-f8e afasn faemes afe=1

D. Wi a9

The robbers were arrested and ...... prison yesterday.

A. brought into .B. brought to C.  taken into D. takento

The cinema ...... a welcome escape from cramped' and dull city life and the Indians are avid
movie-goers. , Ny :

A. depicts” B. highlights C. follows D. offers

I shall take revenge ...... you.

A. from . B. with : Cison - D. at

This book is a useful ...... to our library.

A. discovery B. asset C. addition D. arrival

Fefyree fua wifE wen ﬂzmh ST ST T% "The Wealth of Nations" &fEe! Ty Wt
= 2

A. T 9995 B. T99&R - C. w9505 D. E9590
TeTeht X Essential Amino Acid TR ? : -

A. Methonine B. Valine C. Lysine . D. Allthe above
Trafm T &t SR T weRee fa=ur )

1. fovmm: MMVlsxonaﬁmReﬁanl ‘

2. TR T T Hedn TS | : ' -

3. IE Infection T THSS A THETS Anti infective vitamin 9 m ]

4.  TJE HE FAREEIR GG TERS |

A 1,233FA B. 2,3T49H T C. 1,347 D. 1,2,334¥d .
mmmﬁmnﬂ@mﬁmﬁﬁmﬁmmmmm
A fwaw@ ® 2

A. =E, nifersE, SO S, afwﬁﬁmwm
B. =i, SR i, sfeqo i, wifseam, simemeer
C. <m, uifeneam, sferor i, ST SHIfEn, SRy

= o e e T N S W
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mmmmmmmmmﬂmmmmmmm
Fefes! T T e RETH Teees! ST Raed ;|

70.

71.

72.

73.

74.

75.

The following pie-chart shows the sources-of funds to be collected by the National nghways
Authority of Nepal (NHATI) for its Phase II projects. Study the p1e -chart and answers the question
that follow.

- Sources of funds to be arranged by NHAI for Phase II prOJects (in crores Rs.)

e 0 Wi W G AEHER S TR S ?

Near about 20% of the funds are to be arranged through: _ .

A. SPVS B. External Assistance C. Annuity D. Market Borrowing
IR NHAI & S&T FEIamEe QY% mmmnéqﬁammwmmmm
Wit o g S 2

If NHAI could receive a total of Rs. 9695 crores as External Assistance, by what percent

(approximately) should it increase the Market Borrowing to arrange for the shortage of
funds?

A 45% B. 7.5% ® P T D. 8%
mmmmaommmmwmﬁfmmﬁmm
HRASHIETE Y290 S TN WG & TR TR i T Henar T4 STgui &7 GRES ? If the toll

is to be collected through an outsourced agency by allowing a maximum 10% commission,

.how much amount should be permitted to be collected by the outsourced agency, so that the

project is supported with Rs. 4910 crores? :
A. Rs.6213crores + B. Rs.5827crores C. Rs:5401crores D. Rs. 5316 crores
SRR foe v S R Hhi @ 2 e :

The central angle corresporiding to Market Borrowing is : s

A. 52 B. 137.8° -C..- 187.2° el 2. 192:42

TEH TR VAR AT " AU w6 59 ? ‘

The approximate ratio of the funds to be arranged through Toll and that through Market
Borrowing is

A -9 B..:1:6 P LGB M D. 2:5

o] Faer TR S TeEn s e 2

Count the number of parallelogram in the given figure.

¢



> B. . antidote C. immo;a}ity D antagonjsm,
Heisso . to light that he never leayeg the house Without Sunglasses
A Insensitiye Sensitjyve C. ’
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_The e of the Minister's statement cannot be yerified bY people who have x;o access to
official records- ' : :

A, veracity - © B. yerbosity . C. ambiguity p. validity

A T T A2 ' \ ‘ .

A, R g, JerRE C. e p. Y&d

n@ﬂ«ﬁaﬁfaﬁm D
A 'nzﬁmﬁ%ﬁ B. 113?@2% C 1 213EafeR D 1%%3%
@ WWW(@aﬁ@@a@aﬁ \

A mmm@:ﬁtmaﬂg@g«w

B mm@msﬁm e el

TR e mwmm AR O
A, QLT B. RY TR c. BT D. /LT
aﬁfafa%mm\saﬁsﬁe af e RE?

A. e e p. femfeE™ C Q.fﬂ.%fqﬁ«rqé D, AR T
m@ﬁﬂmmmm

ose {he figure which is different from the rest.

(Ear| | Fars O]
g=11=1 A bd || B
A ES =B

Yo SN

3 G

T T FEEE © rEEE 5 4a @ = e g T Twe positions of a
4 paral\e\epiped are shown below. When the npumber 3 will be on the top side, then which -
_pumber will be at the pottom?

® )



91.

92.

93,

94.

9s.

ﬁaxmmmmma@fﬂamﬁ’ :

Select the figure which satisfies the same conditions of placement of the dots as in Figure-X.

& N
Gl | (DN LN
- . ) \\—/ i
() (1) (2) {3y ey
A 1 B. 2 C-i3 - D. 4

G et e A war TR gt festeeas <t wegeen aiientor TigeRg |

Group the given figures into three classes using each figure only once.

%AI@I
%&@@

£ gmﬂﬁm 3.

g G fa 2. SHERR ANE

ki ESUET 3. ﬁmw ;

. WEUH 9Hd Y. Smgsn

A, H-¥,@-3, 79, §-3 'B. ®-3, @Y, 79, °9-¥
C. -¥,@-3 7R, 99 D. %-9,@-3, -}, ¥-¥

A. 2,4,7;1,6,9;3,5,8 _ B. 135;267;489
C. 1,57:;23,6;489 D. 13,5;24,7;689
ﬁmvﬂﬁlmﬁa’iﬁawﬁ@ra?

A AT B. HRWE g US4
Cc. Ywi=ma - D. SrEv i

202

. e ks fae, ﬁﬁwaﬁamﬁa&amaﬂrwaﬁﬁ

A. FI@ : B. ®IT - C. ®IT D. HifH ga
| S WEAE! & ST R ERea & qoreh TS FA R 2 '

A. T Ui frgss B. Tragdt armda uftga frgss
C. R Y Ty R D. dis uftgg frgss
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97. mﬁwmmmmmmmm{

Select a suitable figure from the four alternatives that would complete the figure matrix.

O|©@
A
A\RS

mm@ﬁ

- (1) (3) -(4) : - €
1 B.<+2 : C.-5i3 Pe. @
98. mmmﬁmmmwmwm|

. Select a figure from  amongst the Answer Fi igures which will continue the same series as
established by the five Problem Figures. , : :

Problem Figures: Answer Figures:

- 0 B[C © g oF F—v $ FJ
-3 5|8 %jC Sis £ -3
P #* BiC 2] £  Al#
657 N2

@a @ © O ®

A 1 B. 2 e o3 . D. .4
99. mm@ﬁwmmmmmm.

Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Flgures : .

Problem Figures: Answer Figures: { v
L L B B g[ " X of < o T:]
e MAar ¥ [k & NN s ]
A B (© @ ® D@ 3 ) ®)
Y N 'B. 2 ea R D. 4

100. TE OPERATION ¥1€ NODQBUJPO afguat g s INVISIBLE &l #I$91 & &7 m ?
a. JOWITICMF 'b. JOWJTHAKD . c. HMUHTHAKD d. HTUHTJCMF



Q.No:

Answer
Key
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Explanation . - -

C.

Only in fig. (3), the marked angles are unequal.

C.

The figure may be labelled as shown.

Triangles :

The, simplest tnangles are ABI, BGI, GHI, HAI, BCJ; CFJ, FGJ, GBJ, CDK, DEK,
EFK and FCK i.e. 12 in number.

The triangles composed of two components each are ABG BGH, GHA, HAB, BCF ,
CFG, FGB, GBC, CDE, DEF, EFC and FGD i.e. 12 in number.

The triangles composed of four components each are AGC, BFD HBF and GCE i.e. 4
in number.

Thus, there are 12+12+4=28 triangles in the given figure.
Squares : . Sk
The squares composed of two components each are BJGI and CKF] i.e. 2 in number.

The squares composed of four components each are ABGH, BCFG and CDEF i.e. 3
in number. i

Total number of sqﬁares in the figure=2+3 =5.

" | The complete figure rotates through 180°and the element that reaches the RHS

position rotates further by 90°CW.

o

5.A Jep [7b. [8B Jop  Jioc|ira [12¢ [13D 144

iy

o

16.C 17.B

18

Let the present ages of Sameer and Anand be 5x years and 4x years respectively.
5x+3 11
4x+37 9

= 9(5x +3) = 11(4x + 3)
= 45x + 27 =44x + 33
= 45x-44x=33-27
=x=6. .
. Anand's present age = 4x = 24 years.”

Then,

19

Let P, Q and R represent their respective monthly incomes. Then, we have:

P+ Q=(5050x 2) = 10100 .... (i)

Q+ R =(6250x 2)="12500 .. .. (i)

P+ R = (5200 x 2) = 10400 .... (iii) .
Adding (i), (ii) and (iii), we get: 2(P + Q + R) = 33000 or P+ Q+R = 16500 ....
(iv)
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Subtracting (ii) from (iv), we get P =4000.
*. P's monthly income = Rs. 4000.

120 15th August, 2010 = (2009 years + Period 1.1.2010 to 15 8. 2010)
Odd days in 1600 years = 0
0Odd days in 400 years =0 ‘ .
9 years = (2 leap years + 7 ordinary years) = (2 x 2 +7 x 1) = 11 odd days =4 odd
days.
Jan. Feb. March April May June July Aug.
(31+-28 + 31 + 30 + 31 +30 +31 +15)=227 days
*. 227 days = (32 weeks + 3 days) = 3 odd days.
Total number of odd days=(0+0+4 +3)=7=00dd days
Given day is Sunday
21 Let the required number of bottles be x.
More machines, More bottles (Direct Proportion)
More minutes, More bottles (Direct Proportion)
Machines 6 2 10
} - SR 2P x
Time (in minutes) 1 : 4
6x 1xx=10x4x270 .
) (10 x4 x 270)
=>x=
(6)
= x = 1800. : _ o
22 1234 |24.c]25.c |26.A |27.4[28B [29B [30.c |31.A [32D
33. 34.A i
135 At 5 o'clock, the hands are 25 min. spaces apart.
To be at right angles and that too between 5.30 and 6, the minute hand has to oam @5
+ 15) = 40 min. spaces. .
55, min. spaces are gained in 60 min.
40 min. spaces are gained in @g X 40) min =43 % min.
.. Required time =43 17 1 min. past 5.
36 Let the sum be Rs. x. Then, :

4 676 51
C.I.=[x(1+100)—:| (625x x) 625
xxX4x2 2%
Sl:( 100 )=25

C5Ilx 2x
=625 25

= X'=1025:






